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Differentiate between fire tube and water tube boiler and Explain
Babcock and Wilcox boiler with neat sketch.

Differentiate between boiler mountings and boiler accessories and
Explain Spring loaded safety valve with neat sketch.

Give classification of cooling tower and explain any one of them with
neat sketch.

Define air compressor and Explain reciprocating air compressor with
neat sketch.

OR

State the function of condenser. Determine condenser efficiency if the
temperature of cooling water entering in condenser is 32° C, temperature
of hot water coming out from condenser is 44° C, vacuum in a condenser
i1s 675 mm of Hg and atmospheric pressure is 760 mm of Hg.

List the various alternate fuels and explain CNG as an alternate fuel with
its advantages.

Show that the efficiency of brayton cycle is
1
-1

=

With P-V and T-S diagram. Where, 7, is pressure ratio and ¥ is specific heat

ratio.

n=1-

OR
Differentiate between impulse steam turbine and reaction steam turbine.
State the significant of compounding for the steam turbine. Explain any
one method for compounding of steam turbine.

State the function of an Engine Also Explain the working of four stroke
S. I. engine with neat sketch.
Define governing system of an I. C. engine. List different method of
governing and explain any one of them with neat sketch.
OR

(i) Define (1) Supercharging (2) Scavenging
(i1) State the function of following parts of an I.C. engine:

(1) Spark plug (2) Carburetor (3) Crankshaft (4) Flywheel

(5) Fuel pump
A single cylinder two stroke oil engine has following observations.
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Mechanical efficiency = 78 %
Bore diameter =34 cm
Stroke length =42 cm
Engine speed =650 rpm

5. Indicated m. e. p. =4 bar
Determine :

(1) Indicated power in kW

(i1) Brake power in kW

(iii)Friction power in kKW

swbh e

Q.5

(a) Explain function of each component of vapor compression refrigeration
system with schematic diagram.

(b)  What is air conditioning? Explain the working of window air conditioner
with simple sketch.

OR
Q.S (a)  Explain various modes of heat transfer with an example.

(b) (1) Differentiate between free and forced convection.

(i1) Differentiate between black body and gray body.
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